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From Algebra Tests:
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A conductor normally travels a distance of 200 km at  . 
i) Write an expression for the time taken. 
[1]
If he increases the speed of the train by 5km per hour, it will decrease the time it takes to travel 200 km by 2 hours. 
ii) Write an expression for the time taken when he increases his speed.
[1]

iii) Write an equation and show that it simplifies to 
[2]
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From mensuration:
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b) If a similar cylinder has a volume of  , what is its height?
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From Functions:

Let  ,   ,  
Find:
a.  g(-2)
b.  
c. 
d.  such that  is undefined

Find  and 
Solve  giving your answer correct to 2 decimal places

Given that  h(x)= . Find:
a.  h(3) 
b. 
c. x such that 
d. x such that 

[image: ]
[image: ]


(ii) 
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From trigonometry
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1. [image: ]















2. [image: ]Find the angle between the line AG and the base plane EFGH                                                 



          
3. [image: ]














     (d) On the map the distance between F and T is 8cm. Calculate the scale of the map in the form        [1]


4. 
[image: ]The bearing of C from O is  .  C is 126 metres from A. 
[4]
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[image: ]From Circle theorem:
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a) 62		b) 56
c) 118		d) 248

[image: ]






[image: ]








[image: ]











[image: ]From Loci
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From Limits of Accuracy


1. A bag of cement weighs 11 pounds correct to the nearest pound. If Jim decides to place 50 of these bags in his van, complete the statement below about the combined weight, W,  of all the bags:
_____  _____


2. The side of a square is 6.3 cm, correct to the nearest millimetre. Complete the statement below about the perimeter,  p,  and the area , A, of the square:
a. _____  _____					b.       _____  _____	

3. Adam took 18 hours, correct the nearest hour, to drive a distance of 36,000 km , correct to 3 significant figures. Complete the statement about his speed, s:
_____  _____
4. The dimensions in the rectangle have been given correct to 2 significant figures. 
What is the UPPER BOUND of the width, x cm.Area= 300 m2



Length= 19 m



A

5. In the triangle below the angles have been given correct to the nearest degree. Find the SMALLEST possible size of the missing angle, C:36°
70°
C
B

	



From Sets:
1) Shade the region indicated on each of the Venn Diagrams below:				[6]
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2) [image: ][image: ]Describe the shaded region in diagram in terms of the sets shown.				[5]
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T What special type of triangle 1s triangle OAB7
iii Given that the length of AB is = cm, find an expression for the area of triangle OAB in terms
of z. Hence find the length of AB correct to the nearest millimetre.

Adapted from June 1993, Paper 4
In the diagram, SR is parallel to PQ. SR =4 cm, SX = 2cm,
RX =3cm and PQ =7 cm.
a Explain why the triangles RSX and PQX are similar.
b Calculate the length of PX and the length of QX.
¢ Itis also given that the area of triangle RSX is 2.90 cm?.
Calculate the area of triangle PQX, correct to two
significant figures.
d Use trigonometry to calculate the size of angle SRX, to
the nearest degree.

Adapted from Nov 1991, Paper 4
The main road, from A to B, through Newmarket, is straight «— 5km——>
for 15 kilometres. The ring road, around Newmarket, is an
arc AB of a circle, centre O, of radius 12 kilometres.

a i Calculate the size of the angle marked 6 in the
diagram.
il Use your answer to a i to show that, correct to
three significant figures, the length of the ring road
between A and B is 16.2 kilometres.
1 00

[™]
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Multi-Topic Questions (Chapter 33)

19. Introduction to

functions
& || ™ 20 Transformation 36 June 1995, Paper 4

i g];w;:::zm a In the right angled triangle PQR, PR =z cm and
equations and QR = (z+ 1) cm. The area of the triangle PQR
functions iﬂ I') Cm2

T 22.Two variable > .
analysis Show that x% + 2 — 10 = 0.

g ;Z‘;';:'e”"m'om Solve the equation 2 +z — 10 = 0, giving

T 25: Pmb::my your answers correct to 1 decimal place.
TGS Hence write down the length of PR.

T Z;’dege:"?ew In triangle ABC, angle ACB = 120°,

nentia

e AC =y cm and BC = (y+2) cm.

3 eauatons i Use the cosine rule to find an expression for
29, Further
trigonometry L AB? in terms of y.

# 30.Variation and When AB = 7 cm, show that
power modelling 5 >

[P 31. Logarithms Yy 42y —15=0.

[P 32, nequalities Factorise y2 + 2y — 15.

e

¥ m‘i‘(',‘,'s“"" Solve the equation 3> + 2y — 15 = 0.

[P 34. Investigation and Hence write down the lengths of AC and CB.

modelling questions
B Ansners 37 Adapted from June 1995, Paper 4
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{7 8. The theorem of
Pythagoras

9. Mensuration
(length and area)

[P 10. Topics in
arithmetic

11 Mensuration |
(solids and
containers)

I 12 coordinate
geometry

[P 13. Analysis of
discrete data

[P 14. Straight lines
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I 17. Continuous data
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3 For each of the following figures, find the angle between the given line segments and the base plane:

a DE A 10cm B b i PU
DF PV
DX SX

iv AX

THE ANGLE BETWEEN TWO PLANES

Suppose two planes meet in a line.

‘We choose a point P on the line, and draw AP in one plane so it
is perpendicular to the line. We then draw BP in the other plane

so that BP is perpendicular to the line and so that APB < 90°.

The angle 0 = APB s defined as the angle between the two





image16.emf

image17.emf

image18.emf

image19.emf

image20.png
85°

5

%
G
3

SE

@

4

Fig. 9.320 Circles

36. Evaluate the magnitude of each letter represent-
ing an angle in the circles, giving a reason for
each of your answers.

(a) (b)
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Fig. 9.321 Circles

37. Determine the magnitude of each letter repre-
senting an angle in the circles, giving a reason
for each of your answers.
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Fig. 9.322 Circles

38. Without measuring, determine the magnitude of
each letter representing an angle in the circles,
giving a reason for each of your answers.

Fig. 9.323 Circles

39. Calculate, the size of each marked angle in
the circles, stating a reason for each of your
answers.

(b)

<

Fig. 9.324 Circles

40. ABC is an isosceles triangle inscribed in a circle
whose centre is O. If ZAOB = 74°, determine
£ BAC, giving reasons for your answers.

Fig. 9.325 Circle
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ABCD is a cyclic quadrilateral.
The tangents at C and D meet at E.
Caleulate the values of p, g and r.
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‘The points 4, B, C and D lie on a circle centre O
Angle AOB = 90°, angle COD = 50° and angle BCD = 123°.
‘The line DT'is a tangent to the circle at D.

Find

(@) angle OCD,

& Show all downloads... X
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(@) angle OCD,

Answer(a) Angle OCD = m

() angle TDC,

Answer(b) Angle TDC = m

(© angle ABC,

Answer(c) Angle ABC =, m

(@ reflex angle AOC.

Answer(d) Angle AOC = [

] i
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(a) Wit the scale of the drawing in the form 1:n, where n is an integer.

Answer (a) 1= m

(b) In this part use a straight edge and compasses only. Leave in your construction lines.

() A tree in the field is equidistant from the point A and the point D. Construct the
line on which the tree stands. @2
(i) The tree is also equidistant from the sides BC and CD. After constructing another
line, mark the position of the tree and label it 7. 31
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